

AHARA CHUKWURWU EMEKA

19 / MHS 01 / 061

MBBS

MAT 104

$$\int \frac{11-3x}{x^2+2x-3}$$

$$x^2+2x-3 = (x-1)(x+3)$$

$$\int \frac{11-3x}{(x-1)(x+3)} = \frac{A}{x-1} + \frac{B}{x+3}$$

$$\int \frac{11-3x}{(x-1)(x+3)} = \frac{A(x+3) + B(x-1)}{(x-1)(x+3)}$$

$$11-3x = Ax - 3A + 3x - B$$

$$11-3x = Ax + Bx + 3A - B$$

$$11-3x = x(A+B) + 3A - B$$

$$A+B = -3$$

$$+ 3A - B = 11$$

$$\frac{4A}{4} = \frac{8}{4}$$

$$A = 2$$

$$A+B = -3$$

$$2+B = -3$$

$$B = -5$$

$$\frac{11-3x}{(x-1)(x+3)} = \frac{2}{x-1} + \frac{-5}{x+3}$$

$$\int \frac{11-3x}{(x-1)(x+3)} dx = \int \frac{2}{x-1} dx + \int \frac{-5}{x+3} dx$$

$$\int \frac{11-3x}{(x-1)(x+3)} dx = 2 \ln|x-1| - 5 \ln|x+3| + C$$

$$2 \int \frac{4x-16}{x^2-2x-3}$$

$$x^2-2x-3 = (x+1)(x-3)$$

$$\int \frac{4x-16}{x^2-2x-3} = \int \frac{4x-16}{(x+1)(x-3)}$$

$$\frac{4x-16}{(x+1)(x-3)} = \frac{A}{x+1} + \frac{B}{x-3}$$

$$\frac{4x-16}{(x+1)(x-3)} = \frac{A(x-3) + B(x+1)}{(x+1)(x-3)}$$

$$4x-16 = Ax-3A+Bx+B$$

$$4x-16 = Ax+Bx-3A+B$$

$$4x-16 = x(A+B) - 3A+B$$

$$A+B = 4$$

$$-3A+B = -16$$

$$\frac{4A}{4} = \frac{20}{4}$$

$$A = 5$$

$$A+B = 4$$

$$5+B = 4$$

$$B = -1$$

$$\int \frac{4x-16}{(x+1)(x-3)} dx = \int \frac{5}{x+1} dx + \int \frac{-1}{x-3} dx$$

$$\int \frac{4x-16}{(x+1)(x-3)} dx = 5 \ln|x+1| - \ln|x-3| + C$$

19/MH501/061

$$3 \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{(x+1)} + \frac{B}{(x-2)} + \frac{C}{(x+3)}$$

$$2x^2 - 9x - 35 = A[x^2 + x - 6] + B[x^2 + 4x + 3] + C[x^2 - x - 2]$$

$$2x^2 - 9x - 35 = Ax^2 + Ax - 6A + Bx^2 + 4Bx + 3B + Cx^2 - Cx - 2C$$

$$2x^2 - 9x - 35 = Ax^2 + Bx^2 + Cx^2 + Ax + 4Bx - Cx - 6A + 3B - 2C$$

$$2x^2 - 9x - 35 = x^2[A+B+C] + x[A+4B-C] - 6A+3B-2C$$

$$A+B+C = 2 \dots \text{eqn (1)}$$

$$A+4B-C = -9 \dots \text{eqn (2)}$$

$$-6A+3B-2C = -35 \dots \text{eqn (3)}$$

$$A = 2 - B - C \dots \text{eqn (4)}$$

$$A+4B-C = -9$$

$$2 - B - C + 4B - C = -9$$

$$3B - 2C = -11 \dots \text{eqn (5)}$$

$$-6A + 3B - 2C = -35$$

$$-6[2 - B - C] + 3B - 2C = -35$$

$$-12 + 6B + 6C + 3B - 2C = -35$$

$$9B + 4C = -23 \dots \text{eqn (6)}$$

eqn 5 B 6

$$3B - 2C = -11 \times 4$$

$$9B + 4C = -23 \times 2$$

$$12B - 8C = -44$$

$$+18B + 8C = -46$$

$$\frac{30B}{30} = \frac{-90}{30}$$

$$B = -3$$

$$3B - 2C = -11$$

$$6(-3) - 2C = -11$$

$$-9 - 2C = -11$$

$$\checkmark -2c = -11 + 9$$

$$\frac{-2c}{-2} = \frac{-2}{-2}$$

$$c = 1$$

$$A = 2 - B - C$$

$$A = 2 - (-3) - 1$$

$$A = 4$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{4}{(x+1)} + \frac{-3}{(x-2)} + \frac{1}{(x+3)}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \int \frac{4}{(x+1)} dx + \int \frac{-3}{(x-2)} dx + \int \frac{1}{(x+3)} dx$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = 4 \ln|x+1| - 3 \ln|x-2| + \ln|x+3| + C$$